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for 1 = 1 to 100 do
for J = 1 to 100 do
AC(1,3) = B(1+4,J3-2) - B(1-2,3+1) + B(1,J+3);
B(1,J) = D(1,J-1) - C(1+2,J)
endfor
endfor
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for 1 = 1 to 100 do for J = 4 to 100 do
for J = 4 to 100 do for 1 = 1 to 100 do
A(l1,J) = A(1-1,J+D) A(l,d) = A(1-1,3+1)
endfor endfor
endfor endfor
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for 1 = 1 to 100 do doall 1 = 1 to 100 do
doall J = 4 to 100 do for J = 4 to 100 do
A(l1,J) = A(1-1,J+D) A(l,d) = A(I-1,3+1)
enddoall endfor
endfor enddoall
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for 1 =1 to 8 do
for J = max(1-3,1) to min(l,5) do
A(I+1, J+1) = A(1,J) + B(1,3)
endfor
endfor
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for 1 = 2 to 9 do

if A(1) > 0 then
A(1) = B(1-1) + 1
else
B(I) = A(l) * 2
endif
endfor
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